o
N
X
N
(=]
&
o
N

g % :

£k o

T R o) R o5
Eoo e o

L S ° 01

----------------------------------------------- -0.05
................................................ _01
----------------------------------------------- -0.15
111 |||! ‘": L1 9_02
T
- b R o 2
SRR 43 O SO ]
0:—1 1 2 3 0 -1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)
—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
—+— DQM_V0001_R000000001__Global__mkFitNewBinsAdj1000time_ RECO
= 100, — 100,
E T 5 E : E ¢t
= 80F---- 4 = 8OF----{ b
A o A
2 60:— ........................................... 3 B0
o . F o
v 40_— ------------------------------------------- VvV 40

o :
-1 2 3
10 1 TPlp?T (PCA tjbobeamliné'f)

<0 / > (Y0
PP, > (70)
O = N W N O

re
¥

3




	Contents
	Page 1


